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01 | #include<stdio.h>
02 | #define SIZE 10
03 | #define THREE 3
04 | unsigned int f1(unsigned int a, unsigned int b){ return (a&&!b); }
05 | unsigned int f2(unsigned int a, unsigned int b){ return (a<<b); }
06 | unsigned int f3(unsigned int a, unsigned int b){ return (a&~b); }
07 | int f4(int a, int b) { return a*b+a-b; }
08 | int f5(int a, int b) {
09 int data[SI1ZE];
10 for (int i=1, k=0; i<a; i++) {
11 if (1%3==0) data[k++]=f4(i, i+1);
12 }
13 return data[b];
14 | }
15 | int f6(int a, int b) {
16 int data[][THREE] = {{4,3,2},{3.4,2}{2,3,3}};
17 for (int i=0; iI<KTHREE; i++) {
18 for (int j=0; J<THREE; j++) {
19 if (i>a || j>b)
20 data[i][j]= data[j][i]+b;
21 }
22 }
23 return data[a][b];
24 | }
25 | intmain() {
26 printf("%u\n", f1(6, 2));
27 printf("%u\n", f2(6, 2));
28 printf("%u\n", f3(7, 2));
29 printf("%d\n", f4(3, 12));
30 printf("%d\n", f5(15, 3));
31 printf("%d\n", f5(3, 15));
32 printf("%d\n", f6(1, 1));
33 printf("%d\n", f6(3, 2));
34 return O;
35|}
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01 | #include <iostream>

02 | #include <string>

03 | #include <exception>

04 | #include <stdexcept>

05 | #include <assert.h>

06 | using namespace std;

07 | class NegativeException: public exception {

08 const char * what () const throw () { return "negative™; }
09|k

10 | class DivideByZeroException: public logic_error{

11 | public:

12 DivideByZeroException() : logic_error( "divide by zero™) {}
13| }

14 | int getResult(int X, inty) {

15 if (x<0 || y<0) throw NegativeException();

16 else if (y==0) throw DivideByZeroException();

17 return (x/y);

18 | }

19 | void f(int x, int y) {

20 try { cout << "Result:"<< getResult(x, y)<<endl; }
21 catch (std::exception &e) { cout << "1: " << e.what() << "\n"; }
22 | }

23 | void testResult() {

24 (2, -1);

25 f(2, 0);

26 (2, 3);

27 f(6, 3);

28 |}

29 | void assertResult() {

30 assert(getResult(8, 4)==1);

31

32 | int main() {

33 testResult();

34 assertResult();

35 return O;

36 | }
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01 | import java.io.*;
02 | import java.util.ArrayList;
03 | abstract class Fruit {

04 public Fruit(int sweetness) {this.sweetness = sweetness; }

05 public abstract String eat();

06 protected String taste() {

07 if (sweetness>0 && sweetness<b) return "no";

08 else if (sweetness<=10) return "little";

09 else if (sweetness<=15) return ""some";

10 else if (sweetness<=20) return "more";

11 else return "super";

12 }

13 private int sweetness;

14 | }

15 | class Apple extends Fruit {

16 public Apple(String c, int s) { super(s); this.color =c; }

17 public String eat() { return color +":"+taste()+" sweetness "; }
18 private String color;

19 | }

20 | class Watermelon extends Fruit {

21 public Watermelon(String v, int s) { super(s); this.volume =v; }
22 public String eat() { return volume +":"+taste()+" sweetness "'; }
23 private String volume;

24

25 | public class Test {

26 public static void test01() {

27 ArrayList<Fruit> fs = new ArrayList<Fruit>();

28 fs.add(new Apple(*red”, 18));

29 fs.add(new Watermelon("big", 20));

30 fs.add(new Apple(""green”, 10));

31 fs.forEach((n) -> System.out.printin(n.eat()));

32 }

33 public static void main(String[] args) throws InterruptedException {
34 test01();

35 }

36 | }
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#include <iostream>
#include <string>
#define SIZE 10
using namespace std;

class Food {
public:
Food() = default;
Food(intc) {cal=c; }
int getCal() { return cal; }
private:
int cal;
b
void f1() {
Food *f[SIZE];
cout<<f[0]->getCal()<<endlI;

}
void f2(int n) {
string *f = NULL,;
for(inti=0;i<n;i++)
f = new string("ok™);
cout<<*f<<endl;;

}
void f3(int n) {
doublex=3,yl1=5,y2=2;
for (inti=0; i<n; i++) {
X = x/10.0;
y1 =y1/10.0; y2 = y2/10.0;

if(x == (y1-y2)) cout<<"X == Y"<<endl,

void f4(char *s1, char *s2) {
int len =0;
char *s =s1 ;
while (*s2!1="0") {
*g1=*s2;
S1++; s2++;

cout<<s<<endl;

}

void f5(int n) {
int result = 0;
int *d = new int[n];
d[0] =d[1] = 1;
for(inti=0; i <n-2; i++) d[i+2] = d[i+1]+d[i];
for(int i = 0; i < n; i++) result = result + d[i];
cout<<result<<endl;

int main() {
char s1[]="goodness", s2[]="food";

f2(2);
f3(1);
f4(s1, s2);
£5(6);
return O;

}
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